What 1s the Temperature?

()
)

[
@)

p—
—
=

p—

S

>
N
=

o

<
W
=]

x®
=]

|

<
[\
(=]

=)
<

=
<

w
8 &
=]

—
=]
'
—
=

=

L L T L N N R R e R TR
[
=]

)
S

wn
[—]
Bovnrhoonrhorncbeochoencbormcbevc loenc oo bennc heene b 1

—
)

o
a

°F
110

=
<

100

920

%]
=]

80

70

[
=

60

50

40

=]

30

20

—
=

10

T L L o L L TR
o
=]

Sy
S

-10

()
cs)

[+
a

[
—
<

|

ot

(=4

<
-
<

&

<
[
=

]
<

3

=
[
=]

9] (=)
= =

S
=]

@
=]
=]

[\
=]

[
<
1
[
<

=

[ D L L R R T LT LY LRy TR
=

)
S

'
—
=

o
S

[]
@)

[
[
=]

p—

S

=
&
=

o
<

x®

=]
w
<

|

<
[
=]

=)
=

=
<

w
(=]
=]

[
(] (=]
'
[y
(]

=

T C D L N L TR R e R TR
[
<

)
S

[7)]
[—]
Bovnrhoonnboenn bovncboennhbornncbevc hoenn oo bennc heenn b 1

—
)

o
a

°F
110

'S
=

100

90

()
<

80

70

N
<

60

50

40

=]

30

20

—
=)

10

T L L L L T LT L Y L T
-
<

Y
S

°F

110

100

90

80

70

60

50

40

30

20

10

-10

7] =5
=] =

[
=]

=]

—
=

T D o L L L L |
[
<

)
S

WWW.intermathschool.com

[J
es)

o
a

[y
—
=]

|

ot

S

<
-
<

&

<
(%)
<

[~’]
<

3

<
[
=]

9] (=)
< <

'S
=]

w
=]
=]

[\
=]

ot
<
1
o
=

=

T L D L L L L O L o
.
<

)
S

'
—
=

°F

110

100

90

80

70

60

50

40

30

20

10

0
—
=

o
a

() =
< =

N
<

=]

—
=)

T L L e T T L Y L T
o
<

)
S




What is the Temperature? Answers
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Note: Answers are approximate.
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